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d. TG Tew
(D asMTb%R  (2) banhrcwm sy o boPcwHE (&) ab,cMd

Who from the following lawyers gave up lucrative practices as a part of
non-cooperation Movement ?

a. C.R.Das
b. M.R. Jayakar
c. Saifuddin Kitchlew
d. Vallabhbhai Patel - )
(1) aandbonly (2) bandconly (3) abandc only (4), ab,c and d

9. gﬂaw%am%mwﬁﬂw

E Eaip[ IL . 9. Udca
' Sor 3 III. T . PregeHl
¢ : IV. frewm Heed wisH N
d. wS
a b c d

@ 1 I I
\é)’ 1 m A o
@ m 1 v

Q.1 ! "R ir editors
Match the following papers and their edl ; .L R~
a. Mumbai Vaibhav I K.P.Mehendale
b. Gurakhi III. A.B.Kolhatkar
c. Desh Sevak IV. Shivram Mahadeo Paranjpe
d. Kal

a b C nj‘
@ 1 m I
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Match the following.
a. Khudiram Bose
Sachindranath Sen

b
c. Barindrakumar Ghosh
d

Ramprasad Bismal

11i.
1v.

K18

FHIHI He

RIS AEEhIE
fe frferen ST
fraRIgen Jie geall
TiforeR drest T

Conspiracy of Kakori

Bomb blast in Legislature
Indian Republic Association
Bomb attack on Kingsford

v. Manik Tola Case

1) v i1 111 1
@) i v 1 iii
3) iv v 1 1
4) iv 111 v 1
8. ‘@ifid THHY AT URTA Ffiaradiel SHIVMG STEUIAT TN Sf@s HI0 3R 7
(1) ™9 AT (2) ST
B3y dfea fersy e (4) e foreyy wema

Who is the writer of ‘Sangeet Ratnqkar’ the standard book on Indian Music ?
(1) Gopal Nayak (2) Sharangdev
(3) Pandit Vishnu Bhatkhande (4) Pandit Vishnu Paluskar

9. IV T (IS SN %)) T b g 3Rd 7
(1) TiierEA (2) iU (3) fored W @R
In which region ‘Kath and Goph’ types of dance are famous ?
(1) Gondawan (2) Konkan (8) Vidarbh

(4) Khandesh
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10. gfeg digatifes Iy - , )

(1) W= e 1888 0 e afs wreftertify e i A 7

3 W ETR 3EEE @l (2) nfi gar e

Which of the following person is ” (4) Wigerg 3FE

Association — 1888’ ? ated to the organization of ‘Indian Patriotic

1) Swami Vivek

ES; Sir Samralge[]iﬁzg;i Kl (2) Swami Dayanand Saraswati

e (4) Mohommad Igbal
—_—
11, I T TS SR T Femren e fifi g e e el 7

a. HIdNI

b. TR
c. FmEt

d. 3wEn

S add @ bacK
(3) FFc N (4) v d

The British Governor General Dalhousie abolished which States on the pretext
of Mal administration ?

a. Satara

b. Nagpur

c. Zashi

d. Ayodhya
(1) aandd (2) bandc
(3) onlyc (4) onlyd

12, myﬁmﬁﬁ@sﬁﬂaﬁw

Identify the wrong pair of Editor and Newspaper.
(1) Keshavchandra Sen — Sulabh Samach,dl. he
©) Dwarakanath deyabhushan _ Bangdarshan

(3) Surendranath Banarjee ~ B?ngah‘ N
Tagore — [ndian Mirrox

(4) Devendranath
P.T.O.
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(2) iii
3) iii
4) 1iv

Match the pairs.
a. Dadasaheb Falke

Baburao Penter

v

11

1ii

v
A ~K
1R

b.
c. Bhalji Pendharkar
d.

Prabhakar Pendharkar
a b c d
1) 1 i iv i
(2 1 i i iv
3) iii i i iv
4) iv i 1ii i

il.
1ii.

1v.

1.
1ii.

1v.

. T T

K1g

Tt giweg, frme
EINRNEIS]

Bajirao Mastani -
Sairandhri Movie

Raja Harishchandra Movie
Bal Shivaji

14.

1890 @Tefl wRAT=A et fehmamen =mer JvamrE Sheifies g T @l

SHeft 7

(1) T9Te FHOT TE
(3) W €

(2) <EWTE RIS

N7 L A | R A

Who established the ‘Industrial Conference’ in 1890 to promote the Industrial

development of India ?
(1) Gopal Krishna Gokhale

(3) Rameshchandra Dutta

(2) Dadabhai Nauroji
(4) Just. M. G. Ranade
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15. whna_aaarauﬁmm

(1) STt ae AT FH e ST,
a’ﬁmrg’r T, e, Foftad, Amjfd

SO
ﬂmvﬁqa? = ST, P, e, i, T K
IR ~ e, i, s, 3, AT
— IR, TepeTE, A, A, TR
(3) ST gea _ ST, eeE, Sl
FFEORR Jau — ST, Trerfire, wshe, R, ST
(@ s e — WTTeeh, WIhIIE, Tofled, Hedl, ThR
STRUIET e mmmwmx

Identify the following correct option group of Brahmin‘and'Non-Brahmm

Newspapers.

(1) Brahmin Newspapers _ Lokshahi, Loksangrah, Kesari, Sanjivan,

Jagruti
Jagruk, Vijayl Maratha, Lokmanya, Dinmitra,

Non-Brahmin Newspapers
Rajkaran

Jagruk, Vijayl Maratha, Sanjivan, Kesari,

(2) Brahmin Newspapers
Lokmanya

Lokshahi, Loksangrah, Dinmitra, Jagruti,

Non-Brahmin Newspapers
Rajkaran

Lokshahi, Loksangrah, Kesari, Lokmanya,

(3) Brahmin Newspapers
Rajkaran

wspapers — Jagruk, Vijayi Maratha, Sanjivan, Dinmitra,
Jagruti
(4) Brahmin Newspapers _ Jagruk, Lokshahi, Sanjivan, Kesari, Rajkaran
Non-Brahmin Newspapers — Vijayi Maratha, Loksangrah, Dinmitra,

Non-Brahmin Ne

Lokmanya, Jagruti

-
v P.T.O.




v 10 K13
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(1) T ReEe ! (2) HAHT S
@ demmae @) 3 v

Which journal had cnt1c1sed the general pohcy of Warren Hastings, the Governgr

General of Bengal at that t1me 7

(1) BengalKirkary “ (2) Calcutta Journal

(3) The Bengal Gazette (4) Amr1t Bazar Patrlka
17. éﬁmmwm ?

S s @ e

(3) TR ueio.] MBI (4) SR,

During whose reign did Captam Hawkms come to India, on behalf of the East
India Company ? '

(1) Akbar o, | \‘ (2) Jahangir

(3) Shahajahan oaniol (4) Aurangzeb

%@nmmmﬁq@n wmw@aaﬁww@m?
\¢f =R e ‘ (2) wfsgT T=m
(3) gdam (4) wafég

Who took the initiative in the establishment of ‘Hindustan Socialist Republican
Association’ ?

(1) Chandrashekar Azad (2) Sachindranath Sanyal
(8) Suryasen (4) Bhagat Singh
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19, WRIISIIAIST ST Ui o .
1 I 3 : N CINIEB IS ]
(1) & (2) < & e
, the travell : . .
Mishareshire. er has written information about Chalukya rule in
(1) HuenTsang (2) Ptolemy (3) Al-Biruni- (&, Fa-Hien

90, TIeH T AT W@ I=AT SIS e,

3 L 32

b. 3R II. et

. g . . w. e
d. Tt R [V. el THes S9H

a b c d
1 I IT I IV x

@ Iv 1m mr I
@ 1 v I

(4) III IV I II

Match the following plays and their authors.
a. Daivaseni I. Kunte
b. Indira II. Kirtikar
c. Kusumanjali 1. V.M. Mahajani
d. Raja Shivaji | IV. Bajaba Ramchandra Pradhan
a Anblu€ d

1) I II m IV

@ Iv 1I 11
(8 II I v 10

4 I Iv I 11
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21. TGS N TS ITEH SHe AL . e
a. e W an Y ;
b. I AW AL
C. qléiu i W 1.11' 3:[."‘.%2
Wt SeuiE iv.
a v. 9rEm
a b c d
(1) iv il 1ii 1
(2) 1ii v 1 13 Bt
3) il iv ii 1
(4) 1 v ii '
Match the following pairs of Author and Books.
a. Trimbak Narayan Atre 1. Birad
b. Keshav Meshram 1. Aghori
c. Baburao Bagiul : 1ui. Gavagada
d. Bhaskar Chandanshiv iv. Audit
an 'v. Pokharan
a b c d
1) iv il 1il i
@) 1 v i il
3 ii iy i1 i
(4) i v il 1
92, mﬁwﬁmwﬁﬁ%awﬁammsﬁww‘
a, Ay L <EERe T
b.  Faqures IL  JERY T
c. Il IIL.  sfem woemy
d. e | IV. *ime e

a b c
1) I IT IIT  1v
(2) IV 1II IT I
3) III 11 I
4) III 11 IV I

b

c. Amrawati

d. Belgaon

a b C d

(1) I II Inr v
(2) IV 111 11 I
3 III 1I | IV
4 III 11 v I

————

—_—
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and concerned city.
Dadasaheb Khaparde
Abasaheb Khankhoje
Shridhar Paranjape
Gangadhar Deshpande
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a. 31 ITTHRIR, 1920 s ¥t gimete “sifer e e afam oy rren @ T B

Ifeet e B,
bi 1927% qﬁﬁaﬂm‘m e 35 e it 57 s Hee der e
53; E%W:g ) aanfrb R A S Ied <
(4) a 3T b B TR ATEN

Observe the following sentences.

a. Lala IfaJPat Rai was the first President of ‘All India Trade Union Congress’
established on 31 October, 1920.

b. 57 Labour organizations were attached to ‘All India Trade Union Congress’

until 1927.
(1) aistrue (2) both a and b.are true
(3) bistrue (4) both a and b‘are not true

94, WIeEdeh! I faem = oT/d ?
a. TIGTHT 3Tl el 3TEG I S 191278} ‘378 - Reler’ 3 38 Waieeh RIRIG <hel.
b. iige 2ifT R it 1911 7Ed R Fie ¥ SIS AdEH TR Hed. X
¢. T 1912 HEY S Jfera™ It FRFeR o1 AT SR T el

(1) %ad a b

(2) ®ad b -

(3) b fT ¢ IH

(4) a 31T c H

Which of the following statement is /are wrong ?

a. Maulana Abul Kalam Azad published ‘Al - Hilal’a weekly Urdu Newspaper

in June, 1912. v
b. ‘The Comrade’ a weekly English Newspaper published by Mohammad Ali

Jinnah in 1911.
¢. In the year, 1912 Jafar
(1) only a is wrong
(2) only b is wrong
(3) b and c are wrong

(4) aand c are wrong

\ /
A HITd S /) SPACE FOR ROUGH WORK P.T.O.

Alikhan had converted his weekly ‘Zamindar’ into a daily.
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o5, izt SR ANk A AR Wi A 36 fig Rty et
@) i e (2)  Ferrrs
(3) TP TR (4) FRrs ay

Damodar Chaphekar and
Hindu Legion’.

(1) Ganesh Savarkar
(3) Balkrishna Chaphekar

started the ‘Society for the Protection of

(2) Vinayak Savarkar
(4) Dravid Brothers
26. Wmmwmmgmmmmmw\
a. IaH/FN dMeT g R IREN
b. FEHR HEAT HE i
c. DS FHIAG TG
d. ¥ gUmn SR g
(1) % a 3T b aﬂ%ﬂ

- (2 ®wHDb, ¢ fr d et
(3) HH a 3T q =R At (4) 0 59 SR
Which of the following reforms that contributed to agrarian took place during
the tenure of Lord Curzon ?
a.

Establishment of Agriculture Research Institution
Passed the Co-operative Societies Act

¢. Passed the Tenant Act

d. Passed the Land Reform Act
(1) Onlyaandbis correct

(2) Onlyb,c and d 1S correct
(3) Only a and d is correct

(4) All of the above 1s correct
27. mmmwmﬁvﬁ/zﬁﬁm/ﬁm IR 7

() % a,b 0 d = 3

Which of the following statements about Dadabhai Nouroji is / are correct ?
a. He was the first Indian Member of House of Commons.
He has served as President of the Indian National Congress three times.
c. He was selected the member of Central Legislature in 1910
d. He was involved in the formation of Bombay Association.
(1) Only b and ¢ are correct (2) Only a and ¢ are correct
(3) Only a, band d are correct (4) All of the above are correct

AN HMHTETS AN / SPACE FOR ROUGH WORK
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d. mm%wmwmw.

(1) 9™ a, b 3Ry ¢ ST () B iy b SR 31
() B vt d s o @) W a 3T ¢ wdmw am
Which of the followin

g statementg about
a. He stateq that Go

as ahead of time.
e ‘Father of Unrest j 1
c. Hewasa liberal bureaucrat.

d. He sentenced Tilak tg ;
(1) Option a,band ¢ (2) Only option b is correct
(3) Only option d is correct, (4) Option a and c are correct

29, a.ﬁémzﬁﬁww,tﬁmam.mm,, ~
b. T 19 : s mmwwﬁgﬁquﬁm
aﬁa&qﬁaﬁvﬁﬁm/ﬁmﬁaﬂm IR/ ? |
1) bww (2) aw (3) =mH @ asb
a. First Sentence After the battle of Plassey Mirzafar became the Nawab of
Bengal.
b. Second Sentence : Mirzafar started his administration from the capital
Murshidabad. '
Which of the above statement/s is/are correct, ?
(1) b only (2) aonly (777(3) none of these (4) aandb
'\.- - - T o - J
30. TRy oot ferfe

‘W’WWWWWWW@W?
(1) 3R sery (2) e S
) Herrestear sy (4) =TI WewEn

Which rebel in Bengal is mentioned in the novel ‘Anandmath’ written by
ankimchandra Chatarjee ?

(D) Revolt of Chuara’s
) Revolt of Santhala’s

-

(2) Revolt of Kolama’s
(4) Revolt of Sanyashi’s

e FHEE 9T/ SPACE FOR ROUGH WORK
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(2) @ FRTISgIeT ShicHpTT &~

3) @ wudt Trpfiadier T2 §id

(4) 1 faemets 33 g

Who were Achyut Balwant Kolhatkar and Vishnu Ganesh Pingle ?
(1) They were the authors of Marathi plays

(2) They were the revolutionaries from Maharashtra

(3) They were the actors on Marathi stage

(4) They were the leaders of the students

32.  PTHhRITEA el Wi oreht ey, T S, Wﬁmm

(1) gomweg 9 2) e Ty
3 IR o (4) e T

Basanti Devi, Urmilg Devi and Suniti Devj from family were arrested

for selling Khadday on the Streets of Calcutta.

(1) Subhashchandrg Bose 2) Bankimchandrs Chatopadhyaya
(8) C.R.Das 4) Rabindranath Tagore

1) f&.3m, ﬁ’ﬁ (2) a;gm I

3) @, el GO e Cog—

In the yeqy 1936 who wag the President of the Second Session of Akhil Bharti

() Keshavrag J edhe

3) N.G.Rap |
i (4) Dinkar Javalkar A

B
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34, GICHCTR] TR /o e 1936 =1 gy AR Togall ?
a. 1935@%@%@13%.
b. 13 et HrefshwTen Tt v avred.
c. HET RS SeTEvareh wmmoft e s,
d. HIGH IMOTST oy fly s .

(1) % b MM ¢ TWew aR * (2) R a I ¢ TS AR
B} (3) FF a TN AR (4) & a T d TR AT

Which of the following resolution is/are not included in the Faizpur Session of 1936 ?
a. Gave Consent to Act, 1935. |
b. Thirteen Point Program was Approved.
c. Demanded to Call the Constituent Assembly.
d. Condemned the Policy of Exploitation of Money Lender.
(1) Only b and c are correct (2) Only a and c are correct

(3) Only a is correct (4) Only a and d are correct

35. ‘1892 9T W uftye srrer fofest TR wefte v 9 9Tia el ?

(1) T (@) e (Frf)
(3) ™R u& (4) T ver

Which party in British Government passed the ‘Indian Council Act, 1892’ ?
(1) Democratic Party (2) Conservative Party

(3) Labour Party (4) Progressive Party

—_
36. v, S, foror amPI(EDE =N el I ol et ama,

0 ™ (@ dE (3) @
Padma, Jaya, Vijaya and Ratna are the High-Yielding varieties of

seeds,

(1) Wheat (2) Rice (3) Maize 4) Bajra

\
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37, T fig weris s @ ¥ W Hia s fewm Area Are e,
a. M. IER L e
b. WEIGEWTE g I g
c. T=m ﬁGULTﬁE‘q‘? I1L. m
d. oy T e T ST s
a b c d
1) 1I IV g I
@2 I II v III
@ IV II1 II I
(4) 1II I II I\Y

Match the following workers of Hindu Mah
used to work. !

asabha with the places where they
a. N.G. Abhyankar

. . I. Solapur
b.  Mahadevshastri Divekar II. Pune
. Shivram Vishnu Modak III. Satara
d. Vishnu Ramrao Patil IV, Sangli- Miraj
a b Cr ytord miem vreo

(1) 1I ot MBS T ..

2 1 II Vo . TII

3) IV IT1 I1 1

(4) 1II I IT v

PORE IR
Who was the Captain of ©

‘Hindusthap; Sevika Dal” established by N.S. Hardikar
In June, 1930 ?

(1) Kalyani Sayyad (2) Kusum Sohani
(8) Kaveri Chaudhari (4) Krishna Sardesai

/
—
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39.

2 TR R o K18
b P I 7

a. '%?;\‘qgm«ﬁ%
19 3 33 1 S, 1038 A it 39 TR,

(;,). ﬁmﬁ T @R R fig wemem seer o
a g .
\ (2) a3l b B sreres S
(3) aanﬁrb%wﬁwm%a (4) ;aﬁumbwm

What1 ;st lic}ée truth about the Hindu Mahasabha ?
a. ' ;
onference of Hindu Mahasabha was held on 1 January, 1938 at

Karnavati.
b. Dr.N. _
1 Or IN : - Khare became the President of Hindu Mahasabha in the year 1949.
) Y SsEERIETe Ahigitre (2) aandb Statements are not true
(3) a and b Statements are true (4) Only Statement b'is true

40, I FHTITM ETH-FHARFER TEG STV HTH TER S HS 3 ?

(1) 1861 =1 3feaa Hife ¥ (2) 1935 =T WRA FLHTHT HIE
(3) Hiei-fie gamen s (4)  TWRR-=TEHIE RO HIE -
Which Act empowered the Governor General to supervise upon the
High-Commissioner ? ‘

(1) Indian Council Act of 1861
(3) Morle-Minto Reforms Act

(2) 1 Government of India Act, 1935
(4) . Montegu-Chelmsford Reforms Act

41, . voTeRrE SugE A

W@ﬁﬂﬁ?ﬁwﬁ%m@m ?
(1) 1950Hﬁﬁwmm‘aﬁaﬁwmﬁammﬁﬁaﬁ’%awaqm

2) ‘a’méw@q;aﬁarﬁmaﬁé’%aw&i@ﬁ '
(3) 1938 mefier frgyf-weA T STeTdrer WREe = I RIS Yuferet

4) 1955@%?@‘%@%’%%3&:&@%

Which of the following statements about the work of Dr. Panjabrao Deshmukh is

Incorrect ? ‘ -
(1) He was the President of ‘Akhil

established in 1920 o
(2) He was the President of b
(3) He held the Post of Presiden
Conference in 1938 Bharat Krushak Samaj established in 1955

(4) He was the President of

Bharatiya Magas Jati Sangh’ which was

Backward Classes Scholarship Board’
t of ‘Vidarbh-Madhya Prant non-brahmin

S— ———— UGH WORK o~
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42.. ST i e e R e 9 A e

a.

d.
@
@)
®3)
@

WM%WWWWW@%’
ﬁ?ﬁmmanﬁrm%mmﬁmﬁmé@q%ﬁ TN
1. A SR A SR el TR ST Tl A

el
ﬁ@%‘mﬁmﬁmﬁmaﬁwé@’%wwﬁaﬁﬁﬁ
ﬁﬂﬁa,bmcaﬁﬁ(wdﬂ?ﬁéﬁ
o b anfr d SRR 31T a 3T ¢ g ITRA
ﬁﬁbﬁcﬁﬁ?%a:ﬁﬁdﬂﬁ?ﬁﬂ%
e v fayum st smRa

Read the following statements about Balashastri Jambhekar and choose corréct option.

He was the first Indian Asst. Professor in Elphinstone College.
He wrote book such as ‘Nitikatha’ and ‘Sarsangrah’.

Justice Narayan Chandavarkar in one article in ‘Induprakash’ mentioned °
him as a ‘Rajkiy Rhushji’.

He was selected member of the ‘Royal Geographical Society of London’ in 1840.
Statement a, b and ¢ are correct while d is incorrect

Statement b and'd are correct while a and ¢ are incorrect
Statement b and ¢ are correct while

aand d are Incorrect
All statements of above are correct




V

ﬁ 21 K18
5, T B BRI Hew

(1) e TR e, 1:::mmwmm 7

) sl iR (2) Wt gfag HrAal 1892

| | I, 1909 4 VT TR TGl 1919
3) The Indian Councils o (e Indiar Coumﬂ.s skt
s Act, 1909 4) Government of India Act, 1919

—
45, T8 T gt ama

g, @ HEC gl JEeHM B

p, O ST Fhiet Bl

. it SEETGET WG BT

4. SeiETgy WG TR L SeEe S

(1) werEd @M @) wHEH el

(3) WRMAA (4) Fem

The following sentences are about .

a. Hewasa Muslim fanatic.

b. He was alawyer from Latur.

c. He was a member of Ittihadu.

d. The mémbers of Ittihadu were known as Razakars.

(1) Mahabat Khan (2) Kasim Razavi

(3)  Shahnawaz (4)' Nizam'’’
_— ‘_/_.___/'
= mmmm‘mwaﬁmwﬁmww ?

) s R ] (@) e e e el

I (4) e T T

he time of Hyderabad Police Action ?

‘Operation Polo’ at t

Who formulated the
(1) General Gogard (2) Major General Jayant Chaudhari
@3 : 4 i .
WORK
P.T.O.
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47.' TSR v st TR Bt ? . -
e Fge (2) '3“"'
g &W (4) RN T

] 9
Who threw the bombshell on Nizam ?
(1) Bhaskar Gopal Kesakar

(2) Narayan Pandharinath Pawgq,
@) Anandrao Waghmare

(4) Kashinath Nawandar

1) =35, T (2) TR T

3) .. T (4) . Mt |

Who from the following had suggested that the capital of Samyukta Maharashtr, |

should be Mumbaj ? : ‘ 4

(1) Y.K. Khadilkar (2) Prabhakar Padhye '

() B.V. Warerkar | 4) P.V. Gadgil J
49. YR @EITGI ST 3T ooy 3 TR | |

(1) %A Feom oy @) W T uftye

Madhavrag Khanderaq Bagal ang Ratng

of .

@ W g
— Wasthe President of

(1) Ghoshibep Naorgj; Captajy,
(3) Kamaladey; Chatt,

2 .
%Padhyqy. @) AVantlkaba
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51.- feroTRITeft Rrvegure o
(1) ﬁm’éw&iﬁ»‘,a—{;ﬁ .?

(2) 1868 TR Rt ‘e
‘ A WHR) HiRehrea ure)
(4) ’ ‘
ST A ST St sy oy 1 e o S
Which of the f i
¢ following statement about Vishnushastri Chiplunkar is incorrect ?
(1) He started a forthnightly ‘Vicharlahari’
(2) He edited ‘Shalakapatrak’ a Government monthly magazine after 1868
(3) He started ‘Chitrashala’ in 1878

(4) He published ‘Kesari’ and ‘Maratha’ newspaper in the ‘Aryabhushan’ press

59, @IEiel HSHT HIAATIHH [oTal:
i R e e ey (A8
b, aTGRT F5Ed He AET TR Hed . ‘%}50,

c. T diehe FReR et HUAT S \9Y

4. TieC ¥ A G FHOA A
(1) d,b,a,c @)% b, d, a, €
3 ¢ ab,d 4) ‘ac,dDb
Arrange the following events chronologically.

a. Anant Kanhere was hanged. )

b. Vasudev Balwant Phadke died in Jail.

¢. Police armoury at Chittgaon was attacked.

d. The newspaper ~yugantar’ was started.

(1) d,b,a,c (2) b,d,a,c
(3) c’ ’b’d (4) a, C, d,b
, a4, D,
~— !/’__/
T T s / SPACE FOR ROUGH WORK vy




|

24 K18

%IQIQWWWWWWWE%WW kil
a. HEW
b. URE 37T 9R
C. Wmmm
d. famro
) ET:{TﬁTdW (2) a I b Fea
(9 c 3 4w ‘ 4) a,b 37 d %

As per the Government of Indig Act, 1919, the Central Government was entrusted
with which of the following duties ? |

a. Defence
b. Posts and telegraphs

¢. Administration of Justice and jail
d. Famine relief

(2) aandb only
(4) "a,bandqg only

54, RUGIRREE L et




s gl
% 2b

55. TN ST B ol 34 oy

K18

b. AT ‘
T e S - TR Y, o v R, A A, T

c. q fo% fowmh -
7'(17:13?{]711’ : :
d. TICHERE WIS T ek @i s a?gawmm

1) IR e e - M
1 AR dedd
(8) g e .
A(4) werhe s et

Who is described in the following sentences ?

a. He was the soul behind the conspiracy against the British at Beed.

b. He assumed various names, such as Raosaheb Peshwe,

Ganesh Keshav Limaye, Balwant Jagadamb, etc.

He moved from place to place - Kathewad, Rajputana, Surat, Pune, Bombay,

Rajkot, etc.

d. Dadasaheb Khaparde and Tilak knew him:
(2) Vasudev Balwant Phadke

(1) Veer Wamanrao Joshi
(4) Sadashiv Nilkantha Joshi

(3) Bapu Gokhale

Al BN =
WWWWWHWM’_

56. &1 1935 =AT ARd
1 e ATl .
(1) e S @) A FAHSS |
@) e wR (4) TG S < HRIFI HES

right to make and amend the Constitution of

In the Govt. of India Act 1935, the

the Union was given
1) G General (2) Central Legislature
overnor
ment (4) Executive Council of Governor General
vern

ROUGH WORK P.T.O.
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‘1945mm’wﬁﬁmﬁmmﬁwﬁwm?

a. Y s e e STEE FET A A

b, fimg i) whfd dfeq T A AT A €

4. e o S rev e el o TR 3 2.

(1) ®Ha,bafrdgERam (2 FH b IH AW

(3) W c 0 d THR IR (4) I a AT d TR SR

Which of the following statements regarding the ‘Simla Conference in 1945’ js/are
incorrect ? SZEd e

Maulana Azad participated as a representative of Congress Party.

Pandit Madan Mohan Malaviy participated as a representative of Hindy
Mahasabha.

c. Discussion in this conference was on Wavell Plan.

d. Mohammad Ali Jinna participated as a representative of Muslim League.

(1) Onlya,bandd are incprrect (2) Only b is incorrect

(3) Onlycandd are incorfe.étz . (4) Only a and d are incorrect

58. WWWWW\%WWW@%

(1) ufed TH=g *1e
(2) . UgTEE HENH
(8) TSR Sl W
(4) s

At the time of Merger of Princely State of Kashmir was the State
Prime Minister.

(1) Pandit Ramchandra Kak

(2) Justice Meherchand Mahajan
(3) Major General Janak Sing
(4) Lord Esme

e o A
o] HHTEIS A/ SPACE FOR ROUGH WORK |
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* ;Tﬁw@??mﬁﬁmwmwmmmmww et AT
a. % S ot el e,
c. HIT GUROT SRIHART S 31 A
d. SNl FaRigHier e, |
(1) % b S d TR © w a RN d TR
(3 W a, ¢ I d T () it wi AT

The ten point programs announced by the Congr

ess Executive Committee in 1967

included which of the following ?

a.
b.
c:
d.

1)

Nationalization of Banking and Insurance Industry.
Government control over foreign trade.
Implementation of land reform program speedily.

Control of Industrial Monopolies.
(2) Only a and d is correct

Only b and d is correct
| (4) All of the above are correct

Only a, ¢ and d is correct

3)

80, el e S ST,
(1) wErd e St ~ g (W)
@) Wt _ gfen GoasEEd HM HOR TS
(3 R - el S ge
(4) It feemds _ gt S et T 1974
Identify the wrong pair from the following.

(1) Janwadi Mahila Aghadi
(2) Manushi

_ CPI M)
A Periodical to Work for Women Movement

Feminism newspaper in Bengal

(3) Anvesha
(4) Usmaniya University _  TFoundation of Progressive Women
Association in 1974
\ RS
T AT </ SPACE FOR ROUGH WORK P.T.0.
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ame/a ! RO TR Fe ap
J3 a3 IRIRED R

: sqreesal Il gl .
B. Wwwm mﬂfﬂﬂﬁrhﬂmg 3TI?4) A B C
C. i [Tl @azz’;‘%"f . (3) B,t(;) » B,
td . ec H
(1 _ A llowing statement/s ig/are corr 1 ile't6 chitisal withes
Which of the follo I found at Pachgani 18 forme Ing
A. The laterite rock Iou
of basalt.

war because of rainfall of more thay
i i d at Mahabalesh fall
B. Laterite rock is foun

3000 m.m. there. ; .
C. Laterite rock found in Konkan coastal region is of secondary form.

(15 A 2 A,C 3 B,C 4) A B, C

62. ‘Far e hegl TR gaW ?
(1) TEW YATE S e (2) STl HITET FEeTeR
(3) Jamatier sreye fmin B deat (4) AR A

When are ‘Ria’ coasts formed ?
(1) Estuaries are submerged

(2) Deltas are submerged
(3) A highland barrier is emerged

(4) None of these
63. TN TR wieh Tt TR ‘
<P shY e o Wﬁmmmmmm




oo T S

K18

29
EISISASINUICIRS S
A. TP i, freomrdt
B. &k i, e
C. TR i, o e
D. TR iy, drEEl GSh
A B C D
(1) 1 ii i v x
i1l 1 iv ii
3) v 1 111 i X
(4) iil v i ii
Match the following Metamorphosed forms.
A. Graphite i. Clay
B. Slate ii. Limestone
C. Quartzite iii. Coal
D. Marble , iv. Sandstone
A B C D
@ i @ i
@ @ i v i
@ iv i . &
(4) iil v 1 ii //_//

a. mﬂﬁ%agv{mﬁ'qagﬂww
b. mawwmwmmmmm
Wﬁmmﬁmmwmﬁam.y
mmmmmw T
LK

. @Wﬁﬁﬁmﬁﬂﬁﬂﬁﬁmaﬁ/ﬁ?
N / WWWWW

c. EhT TRl &l et :
d. Wmmawﬂmaﬁw EERCT RN
(1) a3frb (2) 2 3 bfﬁﬁc 4) camfrd
Which of the following statement/s is/are correct ? —1 X7
a. From the pattern of travel of primary and secondary seismic waves
interior of the Earth, knowledge can be obtained about the
he interior of the Earth..

through the i
composition of different layfers of t
b. The pattern of travel of primary an
interior of the Earth does not provide knowledge about t
different layers in the interior of the Earth.

ol through the Earth’s interior.

d secondary seismic waves through the
he composition of

c. Seismic waves do not trav
4 Earth’s interior :s not made up of different layers but is one layer
everywhere.
(1) aandb 2) Onlya 3) bandc D vogndd
P.T.O.
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6. ST i e oW S A S GRS ST S I o
foeefior @@ ®en R,
1) SRR (2) AR
(3) R i (9 R

The more plastic region of the mantle which is largely composed of peridotite
and on which lithosphere floats is called

(1) Asthenosphere (2) Monosphere
(38) Oceanic block (4) Mesosphere

67. 3.9. 1911 AR IR FICEn Grefielish! HI0T T . TeH YOI I1= gl ?
(1) Foendier gwas shEw (2) iFMifeTeh wateRoT=n YoTe
(3) W= sl (4) amh AE
Which of the following book published in 1911 was of Miss. Ellen Semple ?
(1) History of civilization in England = (2) | Inﬂuence of geographic environment .
(3) Anthropo geography (49 None of these -

68. wmmﬁaﬂaqﬁmﬁmﬁvﬁm?
() o= a@ (2 ‘W 3) ' . (4) ST

Who put forward the concentric zone theory of urban structure ?

(1) E.W. Burgess (2) Homer (3) Hoyet (4) Ulman

69. ST, SIHA 9 g A1 YR Howe R gl anei e 2

(1) 2EIArETg (2) TR
(3) TosdEdTg (4) O &

Which concept was supported by the geographer Blache, Bomen and Bruns ?

(1) Possibilism (2) Determinism

3) Fundamentalism (4) All of the above
3
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70, STl ST A () A e g
AP 1TE2019  (2) same 2018 (3) 26 2015
Pradhanmantri Awas Yojana (urban) Mission was Jaunchet

(1) 1April2019 () 5August2018 (3) 25June 2015 ()

1, e B/ e e /a7 g
A. IR I 1958 79 W e feeBfed FAN
T AT s
B. 9.3NE.30. 79 5 B TR TR 9 G WeAen HH .
LT S I (e " W ——
(1) faure A snf B wg) faur A afi1 C
@) feum C (4) faum B 3o C

Which of the following statement/s is/are correct ?
A. D.R.D.O. was formed in 1958 with the mission to develop strong indigenous

1090 2020
) 10F

technology base.
B. InD.R.D.O.salary of grade B scientist is less than grade G scientist.

C. D.R.D.O. developed brake parachute for Tejas combat aircraft.

(1) Statement A and B (2) Statement A and C
(3) Statement C (4) Statement B and C

79, TS T T w1 HY AreunAT Fey ATETed A 9 et

(1) TS - YT, 37, Fefciel, a6 ~

) TR - afidl, e, S, st~

(3) fhugl - e, efl, d@d, R
) TR - e, s, g, T

tssiic: an incorrect alternative about the districts of Konkan and rivers ﬂOWing ‘n
(1) Raigad — Patalganga, Amba, Kundalika, Bay

(2) Ratnagiri — Vashishti, Kajali, Jog, Bharja

(3) Sindhudurg — Gad, Karli, Terekhol, Achra

(4) Palghar — Vaitarna, Pinjal, Surya, Deharja

\
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3. el A fad e ke 7
A. ST 3 At Heh .
B. Slev i suery sema el it heft .

C. ST qrere SRy S SR ATEEErede & I,
(1) fum A arfn G (2) foem B amfer C
®) fomAatiB (@ faum A, B afn ¢

Which of the following statements are correct ?

A. Wet agriculture is practiced-in Konkan.
B.

Wet agriculture is practiced in Konkan due to availability of Irrigatioy
C.

Cultivable area is less in SOutil Konkan due to existence of 1at

erite rock,
(1) Statement A and C

(2) Statement B and C

(3) Statement A and B (4) Statement A, B and C

74.

%w,mmmmmmm
TR 3TTei 3.

(1) Si.3mTg,

(2) Sit.di.ug.
3) wU

4) A& A.
1s built on knowledge from Geography,
and of course on the advancement in the field of B

(1) GIS

Cartography and Mathematics
lectronics.

(2) GPS
(3) Computer h \(4) CTBT
75. @mmmm@ﬁawmm ?
(1) Tnfrd (@) T «
(3) FEW (4) siem
Which of the following district is well known for Kyanite mineral production ’
(1) Ratnagiri (2) Raigad
(8) Chandrapur ' (4) Bhandara

TS WM / SPACE FOR ROUGH WORK
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@M b c e de @ ¢ de ab
(3 e a, ¢ b, d ) a, e b, c, d
Arrange the Indian rivers in ascending orders-with reference to their pasin size

area.

a. Suvarnarekha
b. Brahmani

c. Tapi

d. Narmada

e. Sabarmati
(1) b, ¢ & d, e
(3) e, a C b d

@ ¢ d e aDb
4) a, e b, c, d

77, @referiht o/ e /3 = AR/A 7

A. ﬁmmaﬁmmﬁﬂmmww@wmm
B. Wmmmmmam. ‘

C. Wmﬁlﬁﬁ%mﬁf@‘ma@ﬁm

1 A @ B @3 AC @) A,B,C

ing statementIS' is/are not correct ?

Which of the follow s
to great depth inside the lower layer of the

A. P and S waves penetrate up

earth. . : . :
ve the Sial layer 1n the interior of the earth.

B. Sima layer is found abo .
erior of the earth is also known as Barisphere.

. . cont
C. The Nife layer® the in
B A @ ® ® Ak (4) AB,C

ACE FOR ROUGH WORK vy
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78. SN e
ey ferwm CL|
A, SW Frf i. 1905
B. foreemdt ii. 1993
C. wmer iii. 1890
D. =5 wv. 1991
A B C D
X1) 1 iv ii i <
(2) in ii i iv
(3) v ii i 11l
@ i i v ir
Match the following.
Earthquake region Year
A. Uttar Kashi 1. 1905
B. Killari i 1993
C. Kangra ii. 1890
D. Kutch iv. 1991
A B «C D S
1 i iv il iii
(2) 11 ii i v
(3) iv i i il
4) 1ii iii v i

Kig

79. WeleeH! IV faEM st @ ?
A. mﬁmﬁwmwmw
B. ewie feM ¥ BURI YHE e IR,
C. FUEI AgH TTEE VeI TR ghef.

1) AB (2) B,C (3) A, C
Which of the following statements are not correct ?

A. The lakes created by glacier are called Playa.
B. Netherland plain is of Cuesta type plain.

C.' Cuesta plains are created in limestone region.,

1) A,B @ B,C @) A C

4) A BC

(4) A) B’ C

o=l FHETEE] S / SPACE FOR ROUGH WORK
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80-l @il 9N gy

A T % Sy ST W & gy Grerat e,
B. WY wes BN Ty 3
C. =% wen o STHAI 90 J EY Wierer 31,
TR B0 /e ey T ma%gi; o
1 A 2 AB @) B C 4 AC
Observe the following statementg. ’
B L S e ey e e
Py 1 81ze but they are at deep.
C. Stock is g 18neous type of rock, o y
Vghlc,{}; of the above statement/s ig/are not correct ?
(1) B (3 B,C @ AC
81. ;Wqﬁggm T ST Sreqoey P 3™ TRUraT
b. AR T
c. . T Ryewrey
2:13 ‘Fﬂgaaﬂil;%l% | © Wbm?@a
8, b TR il 4 a,b, cslim
The layer between the crust ang mantle is called
a. Weichert discontinuity |
b. Moho discontinuity
¢ Guttenberg discontinuity ;
(1) Only a is correct (2) Only b ig correct
() . a, b are correct 4) a,b,care correct
. ST S T W
a. Tog{=h e
b. e @
c. ﬁm@hﬁ grel
d. Taer T
Y a b, oc d @ a,c bd @3) a, b, d, c (4) b, a, ¢, d
Arrange the place of creeks in Maharashtra, from Nort, ¢, South.
a. Rajpuri creek
b. Dhabol creek
¢. ' Vijaydurg creek
d. Terekhol creek
(1) a, b, ¢ d 2 a,¢bd (B a b, d, c @) b, 8, ¢,
\
OUGH WORK \
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83. YT Wrefierteh hivrn Teved SHR AT ?

(1) TUeRN R (2) TEET TN

4) HeRAY
e ( )t e in India ?
Which of the following is a block mountain typ e t
(1) Meghalaya Plateau (2) Ee(;carlllat }? eau
(3) Ladakh Plateau (4) Kedar

e ——— \
84. WICertht v /et fyem /3 s oM 2

A Togrieht aeh wav Tewgr sier femar 3.
B. mw@a'm‘wwm@ﬁm T S T g,

C. Frgwien s v a9 sram,

D. Torgeetean wwen fert sewm e S, ) |
1) % A 2 AsmfiB @ wmC Ty C afr p
Which of the following statements is/are correct ? '

A. Dispersed settlement means spatial isolation of home group.
B. Scattered settlements are formed w
for human life.

here the natural conditiong are suifable

(1) Only A (2) AandB (3) Only C (4) CandD
85. T Arren sy TSR ST iy I TR

(1) gerdt e 2) W@

(3) afewmErR

Maasai people have circular settlementg called
(1) Floating settlement (2) Crawal
(3) Vedikakar

4) Checkerboard ;
6. TN wweTn W 2099 3 04 S
Hifee ey

2023%@?%%@ () oy vl

(1) = 2021 @) w2002 (3) g 2023 (4) ST 2023
UNGA declared 2023 as International year of Milletg oy,

(1) March 2021 (2)" Octobey 2022 (3) March 2093 (4) January 2023
/
\
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7. @ -1 T T-IL i
1) i shid T-111 frem
T HEhTCe srevft frrdia e

1(\:/31)1\/1 il (2) T I
-I, MM-II and 1 .
revolution. and MM-III Missi (@) i ol
ons of Govt. of India are related to

(1) Blue Revolution

3) Whi .
3) ite Revolution (2) Sweet Revolution

(4) Yellow Revolution

g8, RIS UsAT=AT Tfiiean e
(1) SHERl 2016 mmm’wﬁmﬁmmm?
(3) Thet 2016 2) gs'garrﬂ 2016 '
(4) W 2016

When did the M
by ] aharash
Prime . shtra State Cabi i .
Minister Crop Insurance 86 azln:,t?take decision of implementation of the

(1) January 2016
(3) April 2016 ’ (2) '« February 2016 A
P (4) May 2016 -
g9, Sire=l Il
i TR -
A Fre STy
B. i el I3 " B
C. AT 3 iii. S
D. gl PrEEt iy, @H
B C D
(1) 1w i, ; o My
(2 i i iv i
(3) 1iil e L i
(4) 1 i i iv A
Match the following.
Farm tools Improved variety
A. Sickle 1 Ankur
B. Mango harvester i, Nutan
C Groundnut hoe ii. Vaibhav
D Toothed sP2 e ;v. Swastik
A B > D
(1) iv 111 1 lil
3 iv
2 m i:, : i
. iv

M
OR ROUGH WORK



Match the following.

O o = »

1)
)
3)
(4)

Forts

111

11

Pratapgad

Daulatabad

Naldurg

Yashwantgad

A

1ii

B
v
i
i1l

ii

ii

1ii

v

1i
1ii
i

v

38

GEEN
i, 15° 75’
ii. 19° 94’
iii. 17° 98’

iv. 17° 81’

111
11
v

®

Latitude
1. 15° 75" .
1. 19° 94’
iii. 17° 93"
iv. 17° 81
D
il
il
iv

i
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@it 'Y (T) weyy aY K18
g1 RUSIP]
@Hﬂlﬁwﬁﬁﬁ %m%ﬁmﬂm@ﬁﬁé a9 w1 (10)
; Tw)
a. USEH K] ;
N FRNR i e : T:;/ én) (ad)
c. W= Ty g 1952
d. T Friem ﬁwﬁ%ﬁ%m‘“ T i 1946
a b TR g mi  jv. 2000
@ i o g g
(2) iii iv + :
@ gy

44) 1 v i

111

In the followi ' -
ng Column I milestones in the evolution of the population policies of

& . 2 .
India are given and in Column 1T associated years are given. Correctly match them.
Column I (Milestones)

Column II (Years)
a. The National Family Programme launched . 1. 1977
b. Bhore Committee report ii. 1952
c. The new National Population Policy came into force . 1946
d. The name of ‘Family Planning Dept.’ was changed “iv. 2000
to ‘Family Welfare Dept.’
a b c d
OB LT W
(2) iii v ii 1
@ i i vl
@ i iv i iil
92. wzoolwmﬁwmmmmmm e
Bl 2) Rdm
(1) wof (4) R TE
3) CIUICE desh State has the highest while State has

s 2001, Uttar 1

As per Censt ndid,

lowest populatior inl

(1) Manipur

(2) Sikkim
(4) None of the above

d P.T.0
3 Nagalan 1,0,
o g FOR ROUCH WORE
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E'S: . o P TR T e WM 7 8

93. Wefiedh BT T LU ey

A, SEIUET ST

b, < P T T AL T
C. T T W

D, SR S

) w A, B3 C

(3) WA,B&T@TD

(2) %aq B, C a1 D
(4) T ad

From which of the following sources the secondary population informatigy, -

collected ?

A. Census report

B. Registrations of vital life related incidents

C. National sample survey

D. International publications

(1) Only A,Band C (2) OnlyB,CandD
(3) OnlyA,BandD (4) All of the above

94, 2011 T ST, RERERel Riea=n S SRGA A g 7
(1) S - R - T - e
(2) <o - M - WeR -
@ S5 - ew - AW - T
(4) B - TEE - FRE - SR
As per 2011 Census which ascending order of districts of Maharashtra is correct
in respect to population density ?
(1) Chandrapur —-Washim — Gondia — Bhandara
(2) Chandrapur — Gondia — Bhandara — Washim
(3) Chandrapur — Bhandara — Washim — Gondia
(4) Chandrapur — Gondia — Washim — Bhandara

HEAT HUTERS! ST / SPACE FOR ROUGH WORK
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K/E' a1
95' mmm TG mﬁ%aﬁammaéamzﬁm Sl <
. 1971 s 1
p, 1981 i, 27.45
i, 24.54
i i, 25.73
B iv. 22.73
a b c d
o i il
@ i, i iv
@ il iv i n
@) v 111 ii ;
Match the correct pairs of Census year and population decadal growth in Maharashtra.
Census Year Decadal Growth
a 1971 y ¥
b. 1981 i 24.54
c. 1991 i, 25.73
d. 2001 v, 22713
a b c d
1 i i 111 iv
@ i i W iii
(@) niflv !
@ dgm 1 i
Vit 0 2 e o
9%, = daren 300000 - fere 186000 ¥ @nﬁm
e .
1) g @@ O S <4> A
The radiant enersy received from the sui transmltted in the form of electromagnetic
waves and travelhng at the rate of 300000 km or 186000 miles per second is called
\QMWTMHSMSM (@ Reflection
S— R ROUGH WORK P.T.0.
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s e i e T ST RIS T S TSIt AT 3 o 11 e
97. wWH I :

Rreea mﬁéﬁmﬁ.mwmmmm'
w11 (ReR)

et T (@ TE)

A I JTEAGTR, Yed, F&TH, Hiely
a. |
- i, T, e, i, fieh

. Bsh

. i, e, T, feggt
C. Y

a b c
@ i i i

v@)/ i @ i
@ i €3 i
4) i iii ii
In Column I climatic types of Maharashtra based on Koppen’s classification are

given and in Column II group of districts are shown. Match the following and

choose the correct option.

Column I (Climati;: types) Column II (Districts)
a. Am 1. Ahmadnagar, Dhule, Jalgaoh, Solapur
b. Bsh ii. Parbhani, Amaravati, Washim, Hingoli
c. Aw 1i. Raigad, Ratnagiri, Sindhudurg
a b c
1 i ii iii
(2) 1l i ii

@ i i i
@ i i i
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| 2l S .

o T ; Tﬁﬁq S st (%)
TSRS ST
d N iii. 19%
iv. 09%

(1)719% i i iv
(2 i iv 1 i
(3) 1ii 1 iv il )

@) iv 1 n 1

radiant energy from earth surface in the form of long

Match the correct pairs of

waves and its percentage.
Percentage (%)

Radiant energy
4. Unreached to the earth i, 49%
b, From land surface return to atmosphere I 23%
c. Radiated by condensation " 19%
d. Radiated by convention . ' iv. 09%
a b C d
() il s (b1 3Y
iil

P.T.O.
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23 s
” WW@E?Q?EW@WWW%WV

i IAgER A Al QAT FHRO S 160 Hew Sefen 10 3 3, I

ulll AU ST QAN B X 160 Het Jefien 1° Q3. Ye1 ot sy

- TS fRaTeATd TUHH U2 ¥ 160 Hiew Iefien 1° 8.7, Ve S .

(1) iii 0 iv SRS MR » 2 1, il ivn iii SR sy

(3) 13T i RIS IMRA (4) e 7 T 3y

1. Asyou go higher in the troposphere the tem
1. The normal rate of decrease in '
ii. In troposphere the temperature in summer is less than 1°C at ey
160 meters height.

iv. In troposphere; the temperature in winter is more than 1°C for every
160 meters height.

(1) i and iv are correct (2) i, iiand iii are correct i: -
(3) iandiiare correct (4) All of the above are correct

N o ——
100. s omE. |
Tl - 1 it - 11
i RIESH a. AN 9 "R Teh
i ieem b. It TrE SR Y= Swnvey
] TR W0
iii ma‘{-m-még c ST BIRAT Tohamsfier
iv. 3R d. TEERS e e
i AL Vil v | |
M c d p a
2 d c a b
@ a b . d
4) ¢ a d! .irp
Match the following,
1 Ililli?;:o_ :,n List - IT
i Oxyggn % Popularly known as noble gas

bsorption of heat emission from

i, Carbon-di.ogige the earth into the atmosphere

v, Argon C. Chemically not very active
: T . d. hemically active

1) ¢ d b a

@ d ¢ g4 b

@ a b d

@ ¢ a 4 @

e BT ST / QParm o ———
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b

IR /3T 7

31‘]‘[ -{-I-a m N m mFﬁ.
(f) e b e
2
(3).1%'%Tﬂa,banﬁ10 24; E:Eiaxﬁb
Whlcg Oflt};e gfjllli)wmg statement/s is/are true ?
ndu . !
a collid e(}i’. ,1998, an operational satellite and space debris of Europeall rocket
p, Iridum 33 satellite of USA colli : o : 1t
satellite in February 200 g.olhded with Cosmos 2251 inactive Russial military
14, 2022.

c.
1) Statement b and ¢

3 Statement a, b and ¢

U.R.Rao satellite centre celebrated it

s Golden Jubilee on September
2) Statement @ and

| 4) Statement C
feteft e g T s

Iﬂ@%&ﬂ%ﬁ?ﬁﬁfé?ﬁm%’aamlmﬁmﬁ%ﬁm%

0, &
mll.ﬂraﬁﬂwaaﬁww’mﬁw.
w9 I (3 w11 (397e)
. W 1. RADARSAT
b, @A il EARLYBIRD
c 3R i1i. CART OSAT
o FE = SpPOT
a b c d esiie e
1) i sy A 1 Pl i
2 v il e | 18
@) ¥ g i e U
4) iv ii 116 Gl UL A DROR Y TER T |
L jes are g1Ven and in Column II names of satelll
ilsecqlumn I: eso ﬁf nungith 11 and select correct option. pyHiees
glgeil. I (Countrles Column II (Satellites)
olumn i, RADARSAT
a. France il ARLYBIRD
b. Israel iii, CARTOSAT
c. USA iv. EROS
d. India v. SPOT
e. Canada e
a ¢ 4 i
W wv Y 1 S
@ v i iyt Gt
& v v min &
@) iv i i —
" gy / SPAC ror ROV it
B




46
V,it
"

Kig
103. 2.9m.2.30, =1 AriestTErh Ak - 19 WSl It 1 T e ?

1) 2-ush. (2) 1-sft.h. @) 2-& 4) Fierty .

Which vaccine is produced for Covid-19 under the Supervision of DRDO 9

1) 2-AG (2 1-BG @) 2-Dpg 4 None of the zbore
104, ST TG T Ty o ? \

A Ot

B. Hagw

C. ®©R

D. wiew

(1) %= A, B sy ¢ @ ®mB, Ccafyp

() A, Banfrp @ wwwd i

\Zhicg (;f the fo]lowing are the fundamental principléé of xjemoté’sensing 77

- Solar energy ST B T TS g o A

B. Sensor "R SCIR: F T

C. Radar | \T%5)

D. Platform _ ' o

(1) Only A, Band ¢ o ) OnlyB ¢ and D -

3) Only A, B and D 4) Allof the above ‘
105.  wefiertt w4 [ERIEFITE s 3R/ 3MRA 7

2) w e o amfir
@) % faam a (4) wd fawum a, b anfiy
Which of the following statement/s is/are correct ?

(1) Only statement a and 1

(2) Only statement a and ¢
(3) Only statement g

(4) Al statements a,bandec

HRHTEES! M / SPACE FOR ROUGH WORK
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% @reﬁﬁ EDIEICIRE i
1. Hi{llﬁl A gﬁaséla RIGIAEES
i, RIS T S mﬁww -
i, RS Ak T
. RS TR YT e B s S
) FeTT 1 3TN 1 SRS SR, T RH i T '
(o) oo 1 3TN i SR e Wﬁml?gz ik
(3) T i1 3mfor iii SR yr%;r, qwfé[qﬂl%ﬂaﬁ% ;TE:
4) e g4 faum s 3T 1 ‘
Consider the following statements.

Rainfall is less on the eastern s
The eastern part of Maharashtra re

lopes of the Sahyadrl.

ceives some rain from the Northeast

1.

1l.
monsoon.

ds the extreme east of Maharashtra.

The rainfall decreases towar

nd il are correct but statement iil is incorrect
correct but statement ij is incorrect
statement i is incorrect

iil.
(1) Statement ia
(2) Statement i and iil are

) Statement il and iil are correct but
(4) Allthe above statements are correct |
1. @t feEmErE T . -
' ; v T .
e

b.
(1) adb s 3 be
@) adb®H mb%aﬁmmﬁ
(3 a 5 I
(@) paE e "
Consider the following ® o Ltraction &%
: the ro
E. i;ri’? ;:scen rom SP2 o the cor®
orrect and s not the €0

1) a and b ¥
rect an
(2) aand p are COI}”) : wrong

(3) ais right a7
(4)

d expansion.
the pressure incr

eases and air expands.

PT:0:
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.mmmﬂm%mﬁam.mmm.

108. S e e
i few ot
A. 2001 L 941
B. 1981 . 943
C. 1961 /1:1 933
D. 20114 . g4 L

(D iyt T e e %
A2) iy oy
R A N f

(4) iii 1 v 1

e P Y

the following
Year Sex Ratio
A 2001 1. 941
B. 1981 n. 943
C. 1961 lii. 933
D. 2011 iv. 934

O N
@ ooy
@ iv oy
@ i i gy

e FHHIS AT / SPACE FOR ROUGH WoRk
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Feaan fem 3@ =
a@mﬁmmaﬁm@ﬁwmﬁm.

{09
. gﬁﬁﬁiﬁmﬂﬁm@mwm-
ety I ) e 9T 7 |
@ Remagaie., . @) fam b ¢
@ fo a 301 b (4) ﬁﬁma,baﬂﬁﬂc
heiroriginal

a.

C.

Ferrel's law states that winds are deflected to the right from t

direction in the northern hemisphere.

e deflected to the left from their original

Ferrel’s law states that winds ar
direction in the southern hemisphere.

Ferrel’s law depends on coriolis force.

f the above statements are correct ?

Which o
(1) Statement a and ¢ 2) Statement b and c
3) Statement 2 and b 4 Statement a, b and ¢
1, el aeH T Fd ?
A, EHU
B. R
C. AN
D. @ -
0 WABWC ) maa];,écmn
: 4) ad
@ A g afi D 4)
¢ 9
Fhich of the folowiné &% the types 0f ST
A. Camera
B. Radar
C. Photograph
D. Scanne () OnlyB, CandD
(4) All of the above

(1) Only A)
dD

(3) Only A7 B an
§ FOR ZouGH WORK P.T.0.

pand O
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T. -I1I .
2578%‘ 3 %im’a‘ml%%éw
1773‘;’7; ii. gaw AT
e i, Al Gl foremm FYNF FoTRq T
e Iv. 9l 9o oy
b ¢ d
111 1 1v
iv 1i 1
i iv 11
i i 1ii
S
e List - I
anke 1. Publishey of the magazine ‘Down to Earth’
‘ar Pathak 1i. Establishment of Sulabh Shauchalaya facilit
irayan 1ii. modern colony calleq Vigyangram was
. established at 5 low cost

1pande 1v. Fathey of Panj Panchayat

c d

1 v

i1 i

1v 111

i 1ii
aﬁ%“aézﬁ%aréhatiﬁﬁnzamn. 54
el 1. 1974
2[4

ii. 1981
TSI IREM) R g 1972
TG 12i2r01) ey i

1v. 1980
c d
111 v
1 1
1 v
1v 111

't pairs of Environmental Act ang its year: o
‘otection Acty

Year
_ 1. 1974
ervatmn_ Act 1, 1981
“reévention ang Contro] of Pollution) Act i. 1979
0n and (Eiontrol of Pollution) Act iv. 1980
c
111 iv
11 1
i 11
1v 11i

CE FOR ROUGH WORK
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113' W %qm ﬁa'r{ m'
1. Waﬁlé:l :gl'q—ailvl?ﬁilsg I W i .
ii SRR o - AT SaesT gay 3T,
ST SR Ty RIS, ST 3711 T - e~ 1 =
jii. PISIEY, Y5, U 0 anfy ST Fvery fiean Hea.
iv. qﬂaﬁ%maﬁmmﬁ } TR e 4Ty ST 918 i
TS SR B, TSRS STge) s et 2t 3o e i
(1) i3 i1 % 3 |
(3) 1,1, 1vEH 3R (2) Tl, iii SR 3TTed
. @) i, ii, iv SO 3TRd
Consider the following statements
i. Therei Lok L
i; S foli }f close relat19nsh1p between carbon-di-oxide and solar radiation.
- e.aCC}lml'llaUOn of sulfur-di-oxide, carbon-di-oxide, soot and
nltrogen-dl-O)flde in the atmosphere on the plant components the
photosynthesis activity slows down.
1ii. Sqot, dust, metal particles and toxic air increase the amount of vapour
emissions of plants.
iv. As the earth’s average temperature increases, the amount of moisture in
atmosphere decreases and affects air circulation.
(1) iandiiare incorrect (2) 11,111 are correct
3) ' 1i,1ii,iv are incorrect (4) i, ii, iv are correct
/. e ° .
114, mmmﬁﬁaﬁmm wﬁaﬁmﬁqﬂmmmqﬁaﬁa@.
T S, Safaferean que@-iTay =

-4

b. STl qaadd a« gt

(1) forem a TP =l I "

(@) M a T T o

(3) ﬁmambaﬁaﬂa(ﬁ -

faum a%yﬁﬁlb ted to global biodiversity hot ¢ 1

ing 5t ements relate g y hotspot’s anc

Examine the follow1l , . e

selZ::Ii:lthe correct 0{’;1)‘;?% (preatene gpecies oceur in the biodiversity hotspot of

a. At least 32 . 0 L
western ghatS-Ell biodiverSit?' Of.ing s ‘Himalayas' in India is one of them.

0 n
b. Out of th° g ndb poth 2 deblis incorrect

ent 28 n

1
@) Statement? " qp both 24y, ig correct
an dbis
3) Statemem'al is incorrect an
(4) Statemert® WORK P.T.0.
E OR ROUGH
B
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115, RIS R — T - AT — FATER T St 3R,

(1) WERR 3 ved

(2) WY (Sfiew) 37 HEe
(8) 3= AB! Ugd

(4) sOeth T

Leaf litter — Algae — Crabs — Carnivores fish is a system.
(1) Carnivore food system |

(2) Detritus food chain

(3) Food web system

(4) None of the above

116.

T 1400 Hex S srociean qrRam 79w wr 1:7500 =1 SR S .
HHT Bk o 15 3.7, ITE. FHSHAET Tegomeh S frct o 2

(1) 8400 i (2) 3213 #i (3) 2525 i (4) 1111+

An aerial photograph of a terrain having an average elevation of 1400 m is taken

at a scale of 1:7500. The focal length of the camera is 15 cm. The altitude of the
flight above mean sea level is

(1) 8400 m (2) 3213m 3) 2525 m 4) 1111m

I

117.

mmnw,mﬁq{mw%@ﬁﬁéﬁﬂamﬁmwﬁﬁﬁ?
(1) sfemgere séo (2) Tforer g
(3) Thel gémm (4) i i

Which type of projection preserves absolute directions relative to the central point
of projection ?

(1)  Azimuthal projection (2) Robinson projection
(3) Mercator projection (4) Conic projection

AN HM™ETES A / SPACE FOR ROUGH WORK

B
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16 WWWWWWWWW@HM R
@ Rgei 2) HITh!
@ ) e o T
ata set that do not

The spatial relationship between Geographical clementsinad

nuous transformation 1s referred as

change under a conti
2) Cartography

1) Topology
(4) None of these

3) Morphology
o i (@ = )

/ .
119. WWWWWWW .
e st ? _ _

(1) @@ st | @ fe@rd e

(3) feana e ) et 9 i

The Normalized Difference Vegetation Index (NDVI) is calculated using which

bands of electromagnetic spectrum ?

(1) Red and blue 2) Green and blue

(4) Red and near infrared

120 7 3@ 3 o
Fia g )
2016 Tl W @) f3ae
(1) @ 4) 9
T Bombay, student satellite program,

P, T.0:
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eTarelt ST R
121 jﬁ‘ﬁaﬁ%maﬂmﬁmmw@
b, mmmm
N qﬁ:ﬁaﬁ%ﬁﬁﬁ'@?ﬁm
) v @ wm
@) Thawd St i (4) T T

Soil amendments are applied to soil for

a. Changing soil pH to suit crop needs.
b. Increase plant nutrient availability.
¢. Improving physical éondiﬁon of soil.
(1) Onlya (2) Onlyb
(3) All of these (4) None of these

{
,'

122. ATt et T et aray ?) x
(1) 2.601 2.75 mg/m3

(2)'2.607'2.75 glem3
(3) 1.1071.60 g/cm?

(4) 0.370.6 g/cm3
Bulk density of soil ranges from

(1) 2.60to02.75 mg/m3

(2) 2.60 to 2.75 glem3
(3 1.10to0 1.60 g/em3

(4) 0.3t00.6 g/em3

(1) Copper (Cu) (2) Zinc (Zn)

(3) Molybdenum (Mo) (4) Boron (B)

HeeAT BUETE ST / SPACE FOR ROUGH WORK .
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gﬁﬁaﬁum@ww |
EZQL::MNT;%WW%WWWWW
(1) ﬁmnaﬁmm,ij?lWWﬁﬁmmmm
(2) 1990 TR0 3R, 119y o
(3) el e e

Consider the following statements :

Statement I : Cl(ﬁiﬁdi_um is anaerobic bacteria involved in decomposition of
cellulose, ' B

Statement I1: Polypeptides are broken down iﬁto amino acids by Bacillus and
Pseudomonas bacteria. - :

(1) Statement II is correct, I is incorrect
(2) Statement I is correct, II is incorrect
(3) Both statements are correct '
(4) Both statements are incorrect
125. mmmmwmwm_amm@aam
?f)[?j - (2) WEE (8) i (4) Ul AT
Water logging causes injury to the plant duetolow content and accumulation
. i oil. radaold art |
of toxic s;)lbstances 1n( ;:)he (s) m i e (&), Nows of the above
(1) Carbon
— e agfyfirv AU ISR f 3.
126, ST <l (SrEeArA fea) ST
a. UHE fﬁlﬁ
b, SgH P
ﬁ'&]‘[&[ ch
)y it d e (4)  a 3fT d S
4 e ST ) pofesm @ ¢ LT @
1) a 3TIfoT b Had ( . habitat) conservation of biodiversity qre
n situ ( thln

. and C
(1) aandb onl RK P.T.O.
GHWO
oR ROU B

b. Gene ban
Seed ban 3 canddonly  (4) aanddonly
& wildiife s2 ctua:zl)e ooty @




= mammmmwmmq a%m%
AT . .
(1) " I EC R DG
(3) SEsh (4) WIS Ut |
is the basic functional unit which }ncludes both organigmg and
non-living environment, each influencing properties of the other ang both ae
necessary for maintenance of life on the earth.
(1) Geology (2) Eco_system
(3) Hydrological cycle (4) Socio — eco system
\
128. Toehgeiel QuEfier SR STV FETA= HHAES S o 2y
(1) U= - (2) <ArEE T1@
(3) WU IueTear ; (4) o ot

and the resulting shortage of resources most severely affect people
in the developing Countries.

(1) Food grains (2) Population growth
(3) Water availability (4) Electric power
129. ammmmwﬁm(ﬁﬁ—a@m)wmm%
(1) BILEICY (2) RECIEN
(3) TR a1y (4) Wi
is a building block of plant and animal tissues.
(1) Oxygen (O29) ‘ (2) Nitrogen (No)
(3) Hydrogen (H,) (4) Carbon

130.  Wrefierdsht shiorean ol rergvior vt s 2

a. mwm%mmm%mmﬁmﬁ
b. e Trearr g, GEICH @ﬁ%m%ma'tr&aitﬁ.
C. Y3d HHW &,

(1) a1 ¢ g (2) a 3mfor b ey (3) b 3nfir ¢ e

Which of the following are rain water harvesting methods ?
a. By storing in tanks or reservoirs ab
b. By constructing pits, lagoons, tren
c. By recharging the groundwater,

(1) aandconly (2) aandb only (8) bandec only

el HHHISI ST / SPACE FOR ROUGH WORK

B
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c. HHI 3N :
M Wamfwg'““'m“

(3) R a MMV ¢ (2) e b T ¢
(4) vt wd

Sprinkler irrigation ;
1s used for which :
t
a. Shallow and slopj soils ype of soils ?

b. Sandy soils.

c. Low moisture retentive soils.

(1) Onlyaandb (2) Only b and
5 Onl ybandc
( yaandc (4) All of the above
139, WTeleTdeh! TR Hieh e e W Yo AFTOR i i ?
(1) g 2) T
(3) 3= M (4) =B
Qut of following crops which crop requires higher water during its life cycle ?
(1) Wheat (2) Chickpea

(3) Summer greengram (4) Summer groundnut

133, Wwé@qﬁ?
_ ufor it /aafereica ot TR St ot

o, e Al TH
b eier e g i
- WWH@WWWWWWWW
mmlalmwm'l ‘(jycth_q'ﬂ
1) awH @ bFH ? (4)  a3nfir b ww
. 1tura1 drought oceur : .
When does agr;(;uge rainfall and low water content in natural/stored water sources.
a. Below ave dry winds.
. . 3ity and hot dry
b. Low alr' humid! 3(’1 pinfall a7e inadequate to meet the water requirement of
c. Soil moistyr® o rowth t0 maturity: I
crop for health}’(i) b onl (3 conly (4) aandbonly

(1) aonly
K r
A CE FOR rouGH WO BRE
P
B
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Y Freal .
(1) R HTEIv HEEHT (2) = qwﬁw m&*qa'
(3) woft o wrteHAT (4) w& IO TR HrEderar
can be determined by Eu = WR
(1) Water storage efficiency 2) C.l”Op water use efﬁc1.ency
(3) Water application efficiency (4) Field water use efficiency
135. TS gaRI-HeltieX Ut ot find) qroft »
(1) 1,000 ferex (2) 1,00,000 ferex
(3) 10,000 fetex | (4) 10,00,000 f7ex
One hectare-centimetre (1ha cm) water means .
(1) 1,000 litres (2) 1,00,000 11t1.~es
(3) 10,000 litres ~ (4) 10,00,000 litres
136. @Wﬁaﬁﬁfmﬁ%ﬁmmv&e@%ﬁmmw ?
a. GIAYHE
b. 9@
c. TREH (IH)
d. d9EE

(1) a,bamhre 2) b,caﬁﬁnd ('é)' aca:ﬁﬁTd (4) =8 w4

1 ponents of an ecosystem that constitute
its abiotic structure ?
a. Sunlight
b. Wind
c. Rainfall
Temperature
(1) a,bandec (2) b,candd (3) a,candd (4)  All of the above

137. maﬁmﬁ@@aﬁaﬁﬁmﬁmmmﬁa ?

d. IRASH ’
(1) a,banfre (2) a,cafrg (3) a, b amfurq

Which of the following elements ar
a.

(4) af wd

e involved in remote sensing ?

» radiation and atmosphere

ording energy by the sensor

. : ion, processing, interpretation and analysis
d. Application

(1) a,bandec (2) a,c and d

(3 a,bandd (4) All of the above

A HHHETE AR / SPACE FOR ROUGH WORK
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(8) wRicamrd  (4) S b 3R d

Which of the followi ;
. . OWIng are not ethical principles of conservation biology ?
a. The diversity of organisms s good.

b. The ecological complexity is not good.
c. The untimely extinction of populations and spécies is bad.
d. The biological diversity has extrinsic value.

(1) Onlyaandb (2) Onlybandc (3) Onlycandd (4) Only b and d

139, AT AT A 7O FRR A A S A
a. W-m_am[gg beyi ey
b. e
C. mﬁﬂtﬁ@ﬁﬁ

S ‘ @ beda

/‘(’I{a,b,c,d 1 =

3) cd,b,a . ution of greenhouse gases to global warming in ascending order.
Arrange the contribt ion e

a. Carbon-di»oxide

b. Methane

C. Chloroﬂuorocarbons

d. Nitrous oxide
(1) a, b0 d
@) c,d,b;2

P.T.O.
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140. @Tefierth Hd) Remy o 2] ﬁ‘?«““'ﬁ‘w?

E.' HATAT TEITA Frorsl Tt ffeysar (F79g) 3mior <t Streramg Wﬂmﬁw%

d. YIEIGER S My, ‘

(1) & a 37l b (2) e c 3y g

(3) W a 3y ¢ (4) I b afor g

Which of the following statements are considered as energetics pojntg to unge

In any ecosystem ? Istang
a. The gross and net production.
b. The use of energy by producers.

¢ The total input of energy in the form of fooq and its efﬁciency of
assimilation.

d. The gain of energy through respiration,
(1) Only a ang b

ghest gravity dam ip Indig ?
(1) Bhakrg Nanga]

6 Ko (2) Indirg Gandhi‘
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RS NG AL AL

¢ i (o) ﬁm%ﬁamm o e e it e
(1) R a,b3Mc T S
3) 50t 54 a, b, ¢ 37fr g (2) % b, ¢ amfer d

Which of the following princip] (4) ™ a, b 37fT d
a. {_gclnd utilization accor dipnestar'e correct related to watersh
b. Identifying a suitable crog 0 1ts capacity based on laerg’ ed management ?
c. Maximizing product pping pattern for the water:helcisz?rglaSSlﬁcatmn'
a.

d. Safe utilizati Ivity per unit ar t 41
tion of marginal (small) :3&%525%2 lliiag(rin e and per unit water.
s.

(3) Alla,b,candd ‘ (@ Onlyb,candd
(4) Onlya,bandd

IV IATBIG
(3) SToAICETH I
(4) e Fstaeh (Fam)
Any material applied to transpirl

the plant 1s called as
(1) Growth retardants

(2) Vertical mulches
(3) Antitranspirants

(5 Growth regulato ___————=
' mm.wwmm@mw(m)

ng plant surface for reducing water losses from

A I H 7.
a q’ﬁl?ﬂggal
b, 3TRH Wz g
: v | ¥aa b 3T
d qﬂjﬂﬁ b g; P KE] ’
1) s a .
23; c 31@1 d onents ct as z}7cementmg agent for binding sand, silt
compP® ates
Whlc"!:ll Of thitf;(?}llowglfg rm Soll aggreg
and clay p2
o Colloid2 Chde, .
Tron hyd.roxl(%gydroxlde' @) Only b and ¢
Allummlu cter ) All of the above
a /
P.T.O.
B
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Eﬁl 3

)
- Wmm@mm%wmwiﬁ
0 S STeRTen T R STERINTHE Sl ‘1@”%6'&”'
b, WWW@WW/WW%@;
c. ST AT S HOAES SHRET g TeEeia
d. Iy BT wo.
(3) a 3T ¢ B | ()1 ¥ 2, by

- i ion by wind ?
Which of the following methods can control or reduce soil eros1?d y
; residue.

a. Protection of soil surface with vegetative cover ‘or. crop

b. Bringing soil aggregates to the surface soil. . -

c. By making surface roughness for reduction of wind velocity.

d. Establishment of wind breaks.

(1) aandd only (2 bandconly o

d d
(3) aandconly 5 . (@) Alla, b can

147. @?ﬁr«ﬁaﬁraﬁvﬁﬁm/ﬁwﬁaﬁmm/w@ﬁ?
. ST TR et A Tie=i Tt ST '
b. i T Yo wie ST Sfefife aﬁmaﬁﬁwmmm-
c. i ITaETeAT SeETe ARG AT e TSR ST,

(1) % a 3T b (2) % b M c
(3) wa a I ¢ (4) @ a,bamfic
Which of the following statement/statements is/are correct ?
a.

Lime stone/calcite develops into white coloured soils.

b. In high rainfal] areas iron and aluminium concentrate at the surface of soil
(&

Shallow accumulation of lime in soijl of low rainfall areas.
(1) Onlyaandb

(2) Onlyb and ¢
(3 Onlyaandec

(4) Alla,band c
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(3) TR ek (2) FeTrgE amif

Which of the follow (4) Tm-3ifrm etk

Q) Urea ollowing fertilizer containg high percentage of nitrogen ?
: 2) Anh '

(3) Ammonium phosphate (2) Anhydrous ammonia

- (4) Di-ammonium phosphate
149, TR T G0 01 B a1 et i <ot

a. mmwmm‘,"—

b. TEERNS T g w v

d. T e garon A <

(1) wxa (@ wHDb

(3) W a, baiic (4) "da,b,camird

Nanofertilizers are more beneficial as compared to chemical fertilizers due to
a. Higher nutrient use efficiency.

b. Less requirement as compared to chemical fertilizers.
c. Nanofertilizers are ecofriendly.

d. Improvement in the crop yield.

(1) Onlya (2) Onlyb
(3) Onlya,bandc (4) Alla,b,candd
150. Wmmmmwwwmmm T
FaEd .
Ly i e e (2) ST At
(3 T T (4) Tl

—_— approach is based on the perception that tomorrow’s ecology is more
)
important than today’s economy.
)y Organic farming system @) Precision farming
(1) Org

3) qustainable agriculture ) Trrigated farming
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